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General Instructions:
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All questions are compulsory.
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The question paper consists of 34 questions divided into four sections A, B, Cand D. Section-
A comprises of 8 multiple choice questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each: Section-C comprises of 10 questions of 3 marks each and Section-
1) comprises of 11 questions of 4 marks each,

¥H W1 UA H F1 fawey w9 &

There is no overall choice in this question paper
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Use of caleulator is not permitted.

EUS-3 / SECTION - A

9O HEAT 1 6 8 7 Ui wo 1 & T Z)
Question numbers 1 to 8 carry 1 mark each,
HCF(96, 404) & -

la) 4 th} 101 (e} 9696 (d) 96
HCF (96, 404) is



(a) E (b) 101 (c) 9596  (d) 96

2 n’—1, 541 8 & ¥eF B, A0 UF
(4) (B)  WFT W &
(C) F fa9s wiga we & (D) % H9 WiFa 4691 &
n°—1 is divisible by 8, if n is -
(A)  aninteger (B}  anatural number
(8 an odd natural number ()  aneven natural number
3 ﬂﬁax+by=az—bz'%ﬁﬂ1 bx+ay=(}%,ﬁ'f tx+y:|3-TlT!F1'?-’:
@) a-b () b-2a € =2—b (&) a+b
If ax+ i::y=a:—ltzl2 and bx + ay=0, then the value of (x +y) is :
&) a-b () b-a (@ a—b HEEEwb

4 55 FETE o + 355+ 300% TF £ :
() = YIS
(B} ] FOHS
(C) T ST A T
(D} ol JTE
The zeroes of the quadratic polynomial x* + 35x + 300 are :
(&) both positive
(B) both negative

(C) one positive and one negative
(D) both equal

5 sk HHIAYS F ol 24 om 32 em E1 FuEgS ¥ v Gw Al o ¢ -
{a) 12em {b) 12.2 cmic) 19 cm (d) 19.2'ecm

The lengths of the diagonals of a rhombus are 24 cm and 32 cm. The length of the altitude of the
rhombus is

{2) 12 cm b) 12.8 cmic) 19cm {d) 19.2 ¢m
" A2 tan 0 S AR FE R A, e FI A E -

{a) 1‘ (b 24 {c) 18° () %S

It tan _I?u Jrand 8§ is acute, then the value of 8 is

(a) (by 24 (<) 48 () o
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2
(Ay 1 (B) 2
(© 1%=m (D) 13 ahm
If Cis an acute angle in a right AABC, right angled at B, then the value of sinC + cosC is equal er
to: P(_ ﬁ_ﬁ A ,:.é‘
(A) 1 (B) 2 AL
(C)  less than one (D)  greater than one \
.
>
8 el e de a1 3 ey & fameri =t dteia 1

(A) ey o 2 (B) ¥ e
) 0o (D) T v=a gem &)
The algebraic sum of the deviations of a frequency distribution from its mean is:
(A) Always positive . (B) Always negative
(C) 0 (D) _ A non-zero number

"Us-9/SECTION - B
W HEAT 9 H 14 T Welleh W9 2 391 =7 &
Question numbers 9 to 14 carry 2 marks each.

/9/ ST HIfTU T 0 Toreft wIepel TA1 n & Fom 15" i 0 e T 8wl ) 2

Check whether 15 can end with digit 0 for any natural number n.

)9’ TEIE fla) = 1 +:H-1ﬁ+r—'tﬁﬂ'ﬁmﬁﬁmmmmwf 2y —3 F Uiy 2
ferenfsrg & ame >

What must be added to the polynomial f(x) = x* 42 =8¢+ +—1 so that the resulting
polynomial is exactly divisible by "+ 2y —3 2

; - o 5 2
T e AT A7 A0 fF0F =5 Y ey f_.-“E i
f5 3= 5

ik
-~ Al
Find a quadratic polvnomial whose zoross are ———= and =

s



A sinf—coso= L & 5 Sind -+ cos %1 17 H1T FHifera |
o ;

If 5inf — cosh = i then find the value of sind + coss,
173 Fe7 1 ager wm =g - |
a1 5-15 [15-25 | 25-35 | 3525 [45-55 |
| =R 6 |zt 23 o E E
Findﬂ'temﬂdeafﬂwfuﬂmiﬁg'_' ribution -
iClass: [5-mB]i=ae. 35-45 [45-55 |
Frequency : 21 3 15 5

T W/ SECTION - ¢

W HET 15 5 24 T TSI UV 3 35 FT S
":_- estion numbers 15 to 24 carry 3 marks each.
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Prove that 7— 2.5 isan irrational number.

» Fm= Y weftaor gm0 97 «, ¥ fom wer #ifom
Mlxr+93y=189: 93y + 141y =45
Solve the following pair of linear equations for x and y :
141x +93y =189 ; 93x +141y=45

P xmmySfemmeye: 3+ ! __ . & g . 17

23 o
e | e L v = I.’F —-Z_i
= 1 & 2 rI* 1|
Solve forxand y: — + ot =1
¢ 1 Vv 2 ¥ 1 . g lH*ZJ

/ﬁ bwnﬁmaﬁﬁmf‘smﬁl(zx+3}a§=razr‘+q.r2—x-bwmmﬁn
Find the value of b for which (2x+3) is a factor of 2"+ 9% — x—b

f AABC TF Fiy= 2 o B v wasor 1 u-ﬁREaamsaﬂmﬂtm:ﬂﬁ#ﬁE'ﬁl Tag =ifau
6 : AE2+ cD2=AC2+ pE2 .

ABC s a right triangle right angled at ‘8", DandE are any points on AB and BC respectively. Prove that
AE? +CD2=AC2 + DE2

A2 ABCD u% gueia ¥ fod AB|IDC @91 55% famd O W ufase # ¥1 foz #1060 &=
ALE Hi
Ge ob
ABCI) is a trapezium in which AB||DC and its diagonals intersect each other at the point O,
Prove that =% B
QC Ly

y o @ifem fig L secd) sin” A

secd 1™ cosi i
(1" secAy 5111 : s
Provethat ———"""a _ —:
socA | O

& AABCH CHFEM 1 4f2AB =29 em, BC= 21 cm 4 £ ABC=0%, O 55 Sty s -
(i) cos?f + sinf (i) CosH —sindh

VABC is right angled at €. IF AB =29 em, BC ~ 21 em and “ABC =8, then determine the vaiue of
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{i) cos?0 + sinip (i) cos26 —sinZ
| 71 STt & W e % 55 faentaal & U a1 1 Sand (A ) e m g - 3
S (B #) | 0 | 142-104 | 149 - 146 | 146 - 148 | 1482150 | 150152 | 152 - 154 154—15u‘
e |
. 3 6 9 12 9 7 3 5 |
e
Fel I EETH ST I TOA] AT T4 ST S | A FH |
The following table gives the heights (in cm) of a group of 55 students in a class :
Height (140 -[142 -[144 -[146 -|148 150 = 52 -]15¢ -
| (incm) | 142 144 146 148 150 152 154 156
Numbe
r of
sedary | 8 6 9 12 9 7 3 5
s |
Compute the modal height of the class and interpret the resuit,
-
=1 %= F1 oo i st 3
L 0-10 [10-20 [20-30 [30-40 |40-50
AR | 6 10 12 8 8
Find the median for the followin distribution : pev.
| Classes 0-10 [10-20 [20-30 |30-40 |40-50
:Ijm.}uen{-m . 0 = ] E 51:,
| 5 -_g;_
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T HEAT 25 | 34 7 Weds U9A 4 HHI FTE
Question numbers 25 to 34 carry 4 marks each.

A WP 4 AT R g w1 v & R T FEG TR R Ay S g g 4
AT 2 o som e 3 M Yo s fm o s T PE AL N % B 16 7. e
e e aen el sifafraa fa @ feoe e 2ifm

In a lending library, for taking books there is a fixed charge for the first two days and an
charge for each day thereafter. Pinky paid Rs. 22 for 6 davs and Tinku paid Es. 4
Find the tixed charges and the charge for each day.,

additional

tor-d davs



p 71 & A 9 Fifaw A 1, —2F/9E fix) =x"+ 10+
I AT Jm Hifan |
Find the value of p and q so that 1,

—2 are the zeroes of the polynomial
Ax) =x' 4103+ Px +q. Also find its third zero.

W“ﬁﬁkmmraﬁwﬁwtﬂﬁmwmh Ifz 38 um * Tauda 40 km 59 H,
mnmaﬂﬁwﬂ’mkmﬁﬁaﬁaﬁmfﬂqum%ﬁhm’ﬂnﬁmﬂﬁfm1

A person can row a boat at the rate of 5 km/ hr in still water. He takes thrice as much time in
going 40 km upstream as in going 40 km downstream. Find the speed of the stream.

POR UF wwahm fqs & frf ,Q=90°%1 ufe QB = SR & @ zwhw fs
PR = 4PS'—3PQ %1

POR is a right angle triangle, having ~Q = 9¢°-

If QS = SR, then

Showy that

PR* = 4PS* - 3pQ?

el R w1

y - " i . 1
sin? 307, cos? 45° + 4 tan2 30°+ = sin? 90° — 2 cos? 90"+
Evaluate ;

1 5 = 1
sin’ 30° cos” 45° + 4 tan? 30°+ L ¢in? 90°— 2 cos? gge L L
2 24 -

I 15 -+ 4 sec 23, then find the value of (sech + " .
: e ’ oy ol e
){ R secl= — & TYsy fap =20 -

1 srn et

B eSS bl =

p¢+q§¢_q§w¥1 ¥H 9g9e = g 4
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If sech = —
5

s :\'i1‘.|':| ey {‘I;ISE'

2 . show that —————— =3

3 sint — 9 cosh

| = sHimel %1 °1e3, WrerE a1 g0 91 F I ;

4
|| = 0—50 B0—100 100—150 [150 — 200 200 —250 250 — 300 B00 —350
ARG 2 B b b 5 3 1
Find mean, median and mode of the follaw-ing data :
Class 0—50 |50 —100 |100—150] 150 — 200200 — 250] 250 — 300|300 — 350
Frequency |2 |3 5 B 5 5 1
=it 1 arara e &1 1A 91 2, 71 o KA x 791 y S0 e - o

Eu
0-30
30 - 60
&l) = 90
o0 - 120
120 -150
150 - 180

F 4m

x and y:
Classes
0-30
3 - 6l
&0 -9
o - 120
120 — 150
150 — 180
Total

AT
12
21

X

b2

11
150

Frequencies
12

If the mean of Lhe-Ellowing frequency distribution 8§ 91, find the missing
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